H 1T Bl R
oY B 4 E#RRAKEE bR
% BooEMIE 1 5
HOOO¥E K THES2466 SR ENEN R T
% AT LIETRETRE  HN
A L # B  SRTETHITH ZEiT1ORE
T E Ml 108,407,200 M ( HNHEB 9,855,200 [J)
% OFL ¥ F BRIBRLIETHEREIT2 32 1—3 46
JNFEER (BR)
B 1T #8 R ASRfTATH24H ~ SF8HE2H2TH
% L & 105, 050,000 F ( PNIEERL 9,550, 000 )
28 H  SMTETH24H
8 4 M O¥E LIETHEA A ARLOERICET HEME 6 LOBEICL D
T = % ¥ jELiEE L=1,840m W=3.5~5.7m
HEE T HLEAHZE  A=6,970m
4 N 51 E %5 2 [H] %53 [H] i &
1 /hEtAR (BR) 96, 000, 000
19 (F) ERTE 97, 400, 000
34 (BF) EARLE 96, 400, 000
156 FEARALRR  (BF) 97, 200, 000
163 (BF) i B atax 96, 900, 000
171 JnpgtE (BR) 95, 500, 000 TEALIRAES
242 (BF) A b opEE 95, 800, 000
272 (BF) ~ /= RE¥E 96, 500, 000
CNALEFAIL, THEBEZO&BE T




H 1T Bl R
oY B 4 E#RRAKEE bR
% B OEHELE 1 B
¥ 4 HHIE10001 SRR AR E T
% A T s T HpN
A L # B  SRTETHITH FHIT100E
T E O 98,017,700 M ( HNHEH 8,910,700 )
% OFL ¥ F BRIBRLIETHEREIT2 32 1—3 46
JNFEER (BR)
B 1T #8 R ASRfTATH24H ~ SFTHE12H15H
% M & 95,150,000 H ( PNIEEPRL 8, 650,000 )
28 H  SMTETH24H
8 4 M O¥E LIETHEA A ARLOERICET HEME 6 LOBEICL D
T % M 3 HZET HEAEE A=15,960mt
4 N 51 E %5 2 [H] %53 [H] -
1 /e AR (BR) 87, 300, 000
19 (f) A TA 88, 100, 000
34 () FALE 87, 600, 000
156 FEAREERR  (BR) 87, 000, 000
163 (BF) i B atax 87, 800, 000
171 JnpgtE (BR) 86, 500, 000 TEALIRAES
242 (BR) A boFEE 87, 550, 000
272 (BF) ~ /= RE¥E 88, 300, 000
CNALEFAIL, THEBEZO&BE T




H 1T Bl R
oY B 4 ERKEES R FKERE
% 5 KILE 25 &
¥ 4 HHERIER A RSARERRE TF
Y B I RETA HIN
A AL # B ARTHETAHLITH ZERIT10M
T OE K 2,739,000 M ( HNHEB 249,000 [9)
%Ol ¥ FE O BRIRERINSHEERES - THbLEM1 3
FHETE (KR
5z B/ SE T
B 1T #¥ R ASfT4THI8H ~ SF8HE1H30H
% M & 2,640,000 M ( HHEEH 240,000 )
28 H  SMT4ETHI8H
8 4 K% LA S ARLOFEREICE T A EME 6 LoHEIC LD
T = ff = EEFTS N=1F., IFEE 7 N=11#, {tUFF 675 N=11#
4 N 51 E %5 2 [H] %53 [H] -
627 W AR (BR) 2, 820, 000 . 748
o T EAMAS
752 (BK) ARMEELLAT 2, 500, 000 -~ .
R SR TR
793 ZEWRE (KR) 2, 680, 000 et A3t
I B 1 T AT
855 HE LHE (FF) 2,400, 000 VEALIRAES
7 BBt 3E P
1108 H1E27 U —2 (BR) 2, 630, 000 P (i AR
CANFLAFRIL, HEBEE 0L T




